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QN . D Questions

= PARTA

lia ln a smglc hcatcr regcneratwe cycle the steam enters the 13 |L3|CO3

turbine at 30bar and 400°C & the condensor pressure 1s
0.1 bar The feed water heater is direct type which
operates at 5 bar. Find the Net Turbine Work, Net Pump

Work, Cycle eﬁ' cnency & Steam flow rate. |

blIn a Rankine cycle the steam at the mlet to the turbuine is 12 L3 CO3
saturated at a pressure of 35bar & exhaust pressure 1s 0.2 | i
bar. Find : The Pump work, Turbine work, Heat Supplied,
Heat Rejected & cycle efficiency. Steam flow rate of

9.5kg/sec.

OR'“

2lala steam power plant opcrates on a theoretical reheat 13 | L3 CO3
cycle. Steam at boiler with 150 bar and 550°C expands | |
through the high pressure turbine. It 1s reheated at ;

constant pressure of 40 bar to 550°C and expands through

jthe low pressure turbine to a condenser at 0.1 bar. Find

the Net Turbine Work, Net Pump Work, Cycle efficiency

and Steam flow rate. |

i

biIn a steam power cycle thc steam suppl} is at 15 bar and 12 |L3|CO3

dry saturated The condenser pressure 1s 0.4 bar. Find: The |

Pump work, turbine work, Heat Supplied, Heat Rejected
& Cycle efficiency. Steam flow rate of 8.5kg/sec.
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\'z\:lhv alr t.llkl\ the mmpn §SOr uf an open cycle mn«.tant

L i .
il\ A Simple gas turbine operating on a bmyum cycle has air
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PART B

‘pws\uu gas turbine at a pressure of 1 bar & temperature
»f 20°C. The pressure of the air after the compression 18
“bar. lhv isentropic efticincies of the COMPIESsur and
turbine are 80% and 85% respectively. The air fuel ratio is
IM) | 1f the flow rate of air 1s 3kg/sec & CV of fuel 18
I-H ,800k)/kg. Find: Cycle cfficiency and Net work output,

| enetring the compressor at 100kPa & 27°C. The pressure
- ratio 18 9.0 and the maximum cycle temperature 1S 727°C.

' The expansion in the turbine is devided into two stages
‘cmh of pressure ratio 3.0 with intermediate reheating to

7 27°C - Find: Cycle efficiency & Net work output.

l)musq the tnL‘tl of Condenser & Boiler pruw.urc on

; ilhumul cfliciency of Rankine cycle using T-S diagram.
OR

a ln an opcn cvcle gas turbmc p]ant air cntc,rs thc
compressor at lbar and 27°C. The pressure afier
compression 1s 4 bar. The isentropic efficiencies of the
turbine & the compressor are 85% & 80% respectively.
Air fuel ratio 1s 80:1. CV of the fuel is 42,000k)/kg. Mass
flow rate of air is 2.5kg/sec. Find: Cycle efficiency and

th ‘work output.
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(hln a remrnatwc gas turbmu cyole air enters the
| compressor at Ibar & 15°C. The pressure ratio is 6.
; f[scntropic efficiencies of compressor &turbine are 0.8 and
- 0.85 respectively. The maximum tempertaure of the cycle
t ll\ 800°C. The regernerator efficiency is 0.78. Find: Cycle
| Lﬂlutﬂtv and Net work output.

— —

-,C Explain thc, I"vp«.b ot im,d water ht,atx,r usmg, ﬂow and T—%

5 diagram.
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